TiEEH :

kg . TiRIER : SRR T IE(EEE)T=3cm By . 1.00m?
THRIEH wAR | B | mE | BE | 8B | Wi
SRR TE m? 1.00 720 720
BOEM m? 1.00 50 50
MiEAE B2 1.00 80 80
1: 37K m> 0.03] 3500 105
R ITE m? 1.00 250 250
SEETH(ETERIER) = 1.00 5 5
m° B & &t 1210 7%
TE2E .
2. TRIER : ERRTEEEE)T=6cm By : 1.00m?
THRIEH wER | B | mE | BB | 88 | Wi
SRR 1 m? 1.00 620 620
BOEM m? 1.00 60 60
MEAE B2 1.00 80 80
1 : 3R m> 0.03| 3500 105
HRIE m? 1.00 250 250
S TR(EUERIER) = 1.00 5 5
m° B & 5t 1120 7T
T2 .
Egr . TRIER : SRR EEEE)T=6cm By : 1.00m?
THRIEH wmAg | Ba | 8 | B8 | &8 | Wi
SRR 13 m? 1.00 620 620
BOEM m? 1.00 60 60
MEAE B2 1.00 80 80
ST R m> 0.04| 1250 50
HRIE m? 1.00 150 150
S TR(EUERIER) = 1.00 10 10
5 m B B 3t: 970 T
T2 .
Egr . TRIER : RSB TEEEME)T=8cm BEfi7 : 1.00m?
THRIEH wmAg | Ba | B | BB | A48 | Wi
SRR T1E m? 1.00 680 630
BB m? 1.00 70 70
MEAE = 1.00 80 80
TR m> 0.04| 1250 50
WRITE m? 1.00 150 150
EE TR(ETERER) = 1.00 10 10
m- B B 3 1040 T

850

760

760

830



